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EXLI

oA | S e A | 9 (73D Ba | e
116,000 25.8 | 8.9 | 18.1 | 255 | 6.9 | 129 | 16

. R 60,533 27.3 | 91 | 17.4 | 248 | 63 | 128 | 22
oy 55,467 | 243 | 88 | 189 | 264 | 7.5 | 13.0 | 1.0

£S8m |13,783| 28.7 | 6.8 | 13.6 | 161 | 52 | 27.7 | 1.7

stz st 53,596| 27.9 | 82 | 18.0 | 245 | 6.9 | 126 | 1.7
TSsm |48,621| 227 | 104 | 196 | 293 | 7.4 | 89 | 1.5

x5 6,860 | 29.9 | 42 | 13.1 | 128 | 48 | 334 | 15

% 6 6,923 | 274 | 93 | 141 | 194 | 57 | 221 | 18

1 16,425| 292 | 7.7 | 158 | 237 | 6.2 | 1565 | 1.5

_— z2 18,730| 283 | 7.8 | 189 | 233 | 7.5 | 121 | 1.9
%3 18,441| 26.4 | 9.0 | 19.0 | 265 | 6.8 | 105 | 1.6

Inil 16,174 229 | 98 | 193 | 284 | 7.7 | 101 | 1.6

injl 16,449| 225 | 106 | 195 | 293 | 7.8 | 87 | 1.5

13 15,998 | 22.8 | 109 | 19.9 | 303 | 6.6 | 80 | 1.4

Ne 16,471| 255 | 85 | 184 | 264 | 7.0 | 123 | 1.6

B A 7,001 | 239 | 98 | 17.9 | 286 | 7.6 | 105 | 1.5

o7 6,024 | 231 | 95 | 182 | 304 | 6.4 | 109 | 13

ol 4981 | 274 | 81 | 182 | 240 | 7.0 | 132 | 1.9

SES 3,060 | 26.7 | 91 | 17.3 | 206 | 48 | 19.7 | 1.7

o 2972 | 236 | 106 | 179 | 262 | 7.3 | 127 | 16

24 2,906 | 25.0 | 91 | 165 | 28.7 | 7.4 | 11.7 | 13

LES 537 | 285 | 93 | 192 | 225 | 56 | 132 | 1.7

A 47| 26,893| 266 | 92 | 176 | 258 | 6.7 | 121 | 1.8
Ze 5314 | 299 | 86 | 194 | 227 | 63 | 11.2 | 18

55 3,077 | 272 | 81 | 187 | 212 | 71 | 161 | 1.4

s 4916 | 281 | 83 | 188 | 227 | 6.4 | 13.9 | 16

e 7158 | 244 | 93 | 182 | 242 | 75 | 145 | 1.7

S 6,592 | 243 | 9.0 | 185 | 226 | 7.0 | 17.0 | 15

=E 6,394 | 26.7 | 82 | 176 | 243 | 7.2 | 140 | 1.7

e 9,799 | 26.1 | 85 | 187 | 272 | 6.6 | 11.4 | 1.2

ES 1,905 | 203 | 99 | 185 | 27.7 | 9.8 | 128 | 0.8
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EXLI

sus | EEsjop | xsior | mojAlsior | g
oA (8) ot= t& | oft= & of= oi<&
116,000 48.8 14.5 26.3 9.9
e Ers! 60,533 48.0 13.0 29.9 8.5
oy 55,467 49.7 16.1 22.3 11.4
Z580 13,783 61.8 11.8 19.5 5.6
stz st 53,596 49.4 14.7 27.3 8.0
Ink=piim} 48,621 44.4 15.0 27.0 13.2
x5 6,860 61.9 13.0 18.8 4.9
% 6 6,923 61.7 10.7 20.3 6.3
1 16,425 53.1 13.6 26.4 6.3
st 52 18,730 49.6 15.0 26.5 8.3
33 18,441 45.9 15.4 29.0 9.3
1 16,174 46.6 15.6 26.3 1.2
inil 16,449 45.3 14.6 26.2 13.6
73 15,998 4.2 14.9 28.7 14.9
Mg 16,471 47 1 15.9 24.6 11.9
2o 7,001 47.2 14.7 26.1 11.5
o 6,024 48.0 13.8 28.3 9.5
ol 4,981 47 1 15.5 29.3 7.6
EES 3,060 52.5 15.8 23.2 7.3
oh & 2,972 52.3 13.7 23.9 9.5
24 2,906 51.1 14.3 25.7 8.4
LES 537 51.2 14.5 23.3 10.1
A 47| 26,893 48.0 14.0 27.0 10.6
2 5,314 47.2 12.7 29.4 10.4
5= 3,077 49.3 13.6 28.3 7.8
s 4,916 50.2 12.5 28.3 8.4
e 7,158 52.1 15.6 22.1 9.9
g 6,592 54.2 16.5 20.4 8.6
=E 6,394 48.9 12.5 29.3 8.7
==, 9,799 46.2 14.5 29.8 9.0
ES 1,905 54.1 17.0 17.1 11.4
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EXLI

O A = -
* HO|Ct -
116,000] 6.2 39.6 | 39.1 12.9 2.0 0.2 45.8
s = 60,533 | 8.1 37.8 | 37.2 | 13.6 2.9 0.3 46.0
oy 55,467 | 441 415 | 412 | 12.0 1.0 0.1 45.6
ES ST 13,783 | 8.2 39.3 39.2 10.8 2.0 0.5 47.5
stug st 53,596 | 6.4 38.2 39.8 13.1 2.3 0.2 44.6
ST 48,621 | 5.4 4.2 | 383 13.2 1.7 0.1 46.6
=5 6,860 | 7.5 37.3 | 40.2 | 121 2.4 0.5 44.8
x6 6,923 8.9 41.3 38.2 9.6 1.7 0.4 50.1
1 16,425| 7.2 37.0 | 39.6 | 13.5 2.4 0.3 44.2
sh &2 18,730 | 6.3 37.6 | 40.5 | 131 2.4 0.2 43.9
3 18,441 | 6.0 39.8 39.3 12.6 2.2 0.1 45.8
A 16,174 6.1 43.5 | 36.9 | 11.8 1.6 0.2 49.5
12 16,449 | 51 41.5 38.9 12.8 1.6 0.1 46.6
13 15,998 | 5.1 38.6 | 39.2 | 15.0 2.0 0.1 43.7
ME 16,471 6.7 41.6 38.4 11.6 1.4 0.3 48.4
24 7,001 7.0 42.6 37.3 111 1.7 0.3 49.6
o= 6,024 | 6.8 42.8 | 37.8 | 10.8 1.7 0.2 49.6
QI 4,981 7.5 37.8 39.6 12.5 2.5 0.2 45.3
a4x 3,060 | 4.3 329 | 428 | 16.3 3.3 0.4 37.3
o 2,972 7.7 41.6 36.9 12.0 1.8 0.1 49.3
¢ 2,906 | 6.4 42.6 | 40.0 9.4 1.2 0.4 49.0
NS 537 6.0 43.2 | 33.3 15.56 1.5 0.6 49.2
Nl =Pl 26,893 | 5.8 38.4 | 39.9 | 135 2.1 0.2 44.2
4d 5,314 6.0 38.9 39.8 13.1 21 0.1 44.9
= 3,077 6.8 38.5 38.8 12.8 2.9 0.3 45.2
EL= 4,916 | 6.7 36.5 | 38.7 | 14.5 3.4 0.2 43.2
s 7,158 | 4.4 342 | 429 | 161 2.2 0.2 38.6
M 6,592 5.9 40.1 37.5 14.0 2.3 0.1 46.0
a5 6,394 6.3 38.1 39.6 13.6 2.3 0.1 44 .4
a4 9,799 6.5 42.0 37.6 11.9 1.8 0.2 48.5
SRS 1,905 5.4 45.8 37.6 10.2 0.8 0.2 51.2
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EXLI

D e O o I Ei’ﬂ_% 55
8 A @) EEdor Loy 2UdE | Zhss |, SE

° ° j fojct [ST7 =

116,000 | 33.0 39.7 3.3 11.8 12.1

e ! 60,533 33.9 38.3 3.5 12.7 11.4
oy 55,467 32.0 4.2 3.0 10.7 12.8

58w | 13,783 42.7 35.9 4.0 9.4 7.8

stung = 53,596 32.8 38.8 3.8 12.4 12.0
IS5sW | 48,621 30.4 4.7 2.5 1.7 13.4

%5 6,860 44.4 34.7 4.2 9.5 7.0

%6 6,923 41.0 37.2 3.7 9.3 8.6

1 16,425 35.0 37.1 4.3 12.2 1.2

s =R 18,730 33.7 38.6 3.6 11.9 12.0
3 18,441 29.9 40.6 3.6 13.0 12.6

il 16,174 32.3 41.4 2.7 11.5 11.9

inil> 16,449 30.5 421 2.3 11.6 13.3

73 15,998 28.5 41.6 2.6 12.0 15.1

Ne 16,471 32.3 40.6 3.1 11.2 12.6

24 7,001 33.0 40.6 2.7 12.3 11.1

o 6,024 33.6 43.0 2.3 10.4 10.6

olH 4,981 32.1 40.2 3.7 12.7 1.2

Ix 3,060 38.3 35.5 4.1 11.1 10.8

oh = 2,972 35.4 41.6 2.0 10.8 10.2

M 2,906 35.3 41.0 2.4 11.6 9.4

NE 537 29.4 42.3 4.3 13.2 10.2

xaE =pl 26,893 31.8 39.6 3.3 1.8 13.3
Ze 5,314 32.6 38.3 4.1 12.3 12.5

5= 3,077 34.1 36.2 3.8 14.0 1.7

1= 4,916 33.1 36.4 4.7 14.1 1.7

e 7,158 33.7 37.4 3.7 11.1 14.0

et 6,592 37.2 38.4 2.9 10.1 11.2

H= 6,394 32.9 38.0 3.8 13.7 11.5

A 9,799 30.5 41.4 3.3 12.3 12.2

S 1,905 35.5 48.6 1.7 5.5 8.6
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EXLI

(EH21:%

116,000 12.9 45.8 27.4 9.8 2.5 1.5 58.7 12.4

i B 60,533 | 14.4 | 431 | 25.7 | 111 | 3.7 2.1 57.4 | 14.7
oy 55,467 | 11.2 | 48.7 | 29.3 | 86 1.3 09 | 599 | 9.9

E SR 13,783 | 15.7 42.4 30.0 7.6 2.1 2.1 58.2 9.7

stilg e 53,606 | 14.0 46.8 27.0 8.0 2.2 2.0 60.8 10.3
ISstm | 48,621 | 108 | 456 | 272 | 126 | 3.0 09 | 564 | 156

x5 6,860 14.3 421 31.3 7.7 2.2 2.4 56.4 9.9

x6 6,923 17.1 42.8 28.8 7.4 2.0 1.8 5198 9.4

= 16,425 | 15.5 | 47.2 | 26.8 | 6.5 1.9 21 | 626 | 8.4

s 52 18,730 | 14.4 46.9 26.9 7.6 2.2 2.1 61.3 9.7
53 18,441 | 12.3 46.3 271 9.8 2.6 1.8 58.6 12.5

11 16,174 | 11.9 | 476 | 258 | 111 | 2.5 1.0 | 59.5 | 13.7

iy 16,449 | 10.3 | 46.0 | 28.0 | 12.0 | 2.9 0.8 | 56.3 | 14.9

13 15,998 | 10.1 | 43.3 | 27.7 | 146 | 3.6 0.8 | 53.4 | 18.1

M2 16,471 | 13.0 45.6 27.4 10.2 2.4 1.5 58.5 12.6

4k 7,001 | 12.3 | 46.9 | 26.0 | 11.2 | 24 1.3 | 59.2 | 13.6

o 7 6,024 | 12.0 | 446 | 27.9 | 11.0 | 29 1.5 | 56.7 | 13.9

oI 4,981 14.7 44.5 26.6 9.6 3.0 1.6 59.2 12.6

45 3,060 9.6 43.8 30.7 10.7 3.0 2.3 53.4 13.7

of 2,972 1.7 48.0 25.3 1.1 2.7 1.2 51977 13.8

Sk 2,906 | 12.0 | 48.2 | 26.9 | 9.3 2.2 1.3 | 602 | 11.5

MZ 537 156.3 46.7 22.9 10.6 2.8 1.7 62.0 13.4

x4 A7 26,893 | 12.0 | 446 | 28.8 | 102 | 28 1.6 | 56.6 | 13.0
e 5314 | 14.9 | 46.7 | 255 | 9.3 2.5 1.1 | 616 | 11.8

35 3,077 | 15.0 | 449 | 27.7 | 7.7 2.6 2.1 59.9 | 10.3

S 4916 | 15.5 | 46.7 | 25.0 | 8.6 2.5 1.7 | 623 | 11.0

= 7,158 | 12.3 | 45.0 | 29.7 | 9.2 2.2 16 | 57.3 | 11.4

M 6,592 | 13.4 | 46.0 | 26.8 | 9.7 2.7 1.5 | 59.4 | 124

a5 6,394 14.0 46.5 26.9 8.5 2.5 1.6 60.4 11.1

dE 9,799 12.8 47.3 26.5 9.6 2.0 1.7 60.1 11.6

NS 1,905 | 12.0 | 509 | 253 | 9.9 1.4 05 | 629 | 11.3
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EXLI

sus | e | Y | oy | HE | =K | 2| B2 | g
A A @) | s | /24| A5 | SPL| /Sle | UE | 68
116,000| 34.2 | 8.8 | 20.6 | 125 | 6.0 9.7 6.3 1.1
s = 60,533 | 35.5 | 8.6 | 156.8 | 123 | 59 | 123 | 7.2 1.5
od 55,467 | 32.7 | 91 25.8 | 12.7 | 6.1 6.8 5.3 0.6
S 13,783 | 442 | 6.3 | 21.2 | 6.5 5.1 12.1 2.6 0.8
stig ssu 53,596 | 34.5 | 8.7 | 209 | 11.7 | 6.4 | 10.0 | 5.8 1.1
1S 48,621 | 31.0 | 9.7 | 20.1 | 15.1 5.8 8.7 7.9 1.1
x5 6,860 | 45.8 | 59 | 21.5 | 5.2 48 124 | 2.1 0.8
z6 6,923 | 426 | 6.7 | 21.0 | 7.7 53 | 11.8 | 3.0 0.9
S 1 16,425 | 38.7 | 7.1 20.2 | 105 | 59 | 104 | 5.0 0.9
s 52 18,730 | 33.2 | 89 | 21.7 | 11.56 | 6.5 | 10.1 5.9 1.2
53 18,441 | 322 | 9.9 | 206 | 129 | 6.6 9.4 6.4 1.1
11 16,174 329 | 9.5 | 20.2 | 13.5 | 5.8 8.9 7.5 1.0
12 16,449 | 31.2 | 9.9 | 20.7 | 15.0 | 5.6 8.7 7.2 1.1
3 15,998 | 28.8 | 9.8 | 19.4 | 16.7 | 6.0 8.5 8.9 1.2
ME 16,471 | 32.8 | 9.2 | 19.7 | 140 | 6.1 9.3 6.8 1.1
2A 7,001 | 32.7 | 8.0 | 19.8 | 143 | 5.9 9.9 7.6 1.0
o+ 6,024 | 33.8 | 84 | 184 | 127 | 6.4 | 11.4 | 7.3 0.9
QIH 4,981 | 36.4 | 9.0 | 189 | 126 | 5.8 9.2 6.0 1.3
a4 3,060 | 37.8 | 7.5 | 223 | 8.9 56 | 114 | 43 0.9
o 2,972 | 365 | 8.2 | 172 | 124 | 6.4 | 101 7.6 1.1
= 2,906 | 33.1 9.0 | 195 | 127 | 6.7 | 11.5 | 6.1 0.6
ME 537 32.4 | 941 19.0 | 10.8 | 6.7 | 12.7 | 6.3 1.3
X4 = 26,803 | 334 | 9.3 | 204 | 12.7 | 6.1 9.6 6.4 1.2
a4 5,314 | 34.7 | 91 22.5 | 125 | 5.2 8.5 5.6 1.1
55 3,077 | 359 | 9.6 | 21.7 | 111 6.5 7.8 5.5 1.0
SE 4916 | 33.6 | 9.3 | 222 | 11.6 | 6.1 9.4 5.9 0.7
= 7,158 | 341 83 | 2566 | 11.5 | 5.5 8.7 4.6 1.1
e 6,592 | 36.4 | 8.2 | 224 | 10.7 | 5.1 9.9 5.5 1.1
a5 6,394 | 340 | 9.0 | 19.7 | 11.5 ] 6.3 | 111 6.3 1.0
d 9,799 | 348 | 88 | 19.3 | 13.0 | 6.2 9.3 6.8 0.9
wES 1,906 | 388 | 7.5 | 23.3 | 9.6 5.4 9.3 4.9 0.7
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A= 46 30.4 47.8 6.5 10.9 0.0 4.3 78.3 10.9
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Ma 464 42.0 57.5 0.4

L 204 31.4 68.6 0.0

ch = 125 64.0 36.0 0.0

k| 133 43.6 56.4 0.0

g5 104 51.0 49.0 0.0

o 102 58.8 40.2 1.0

s 57 77.2 22.8 0.0

ME 29 3.4 96.6 0.0

AHE a7 627 44.0 55.8 0.2
R 119 43.7 56.3 0.0

35 104 48 .1 51.0 1.0

SH 131 47.3 52.7 0.0

d= 171 29.8 70.2 0.0

e 199 33.2 65.8 1.0

b 247 33.2 66.8 0.0

a4 268 35.1 64.6 0.4

N ES 46 78.3 21.7 0.0
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(3) |23l olt| 3~53] | 6~103 |11~153][162] Of 7|Ef

1,324 35.1 41.0 13.5 2.7 4.2 0.2

Hd 338 27.2 47.9 15.4 2.7 5.6 0.3
o 986 37.8 38.6 12.9 2.7 3.8 0.2
E3 S 914 37.5 39.2 13.0 2.6 3.8 0.0
sl 261 27.2 46.0 17.6 2.7 4.6 0.4
ussty 149 34.2 43.6 9.4 3.4 6.0 1.3
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oty 30cH 455 38.0 411 9.0 3.1 4.4 0.0
40ty 399 38.6 34.8 17.0 2.8 3.3 0.0
500 of ¢ 321 26.5 45.2 18.1 2.2 5.6 0.3
B 914 37.5 39.2 13.0 2.6 3.8 0.0
£y 158 15.2 44.9 291 3.8 5.1 1.9
ALZ 99 37.4 45.5 6.1 3.0 6.1 0.0
H A 94 45.7 41.5 6.4 0.0 4.3 0.0
7|Et 55 29.1 54.5 3.6 5.5 1.8 0.0
M= 195 27.7 43.6 16.9 4.1 3.6 0.0
FLk 64 37.5 40.6 12.5 3.1 3.1 0.0
o 80 30.0 32.5 18.8 12.5 5.0 0.0
oI 58 54.8 29.3 10.3 1.7 0.0 0.0
&5 53 37.7 35.8 17.0 1.9 7.5 0.0
o 60 1.7 51.7 23.3 6.7 6.7 0.0
st 44 1.4 341 25.0 9.1 15.9 0.0
NS 1 100.0 0.0 0.0 0.0 0.0 0.0
47| 276 45.3 39.5 8.7 0.7 2.5 0.7
4d 52 28.8 44.2 13.5 0.0 9.6 0.0
5 50 26.0 56.0 14.0 0.0 0.0 0.0
e 62 46.8 43.5 6.5 0.0 0.0 0.0
e 51 58.8 31.4 7.8 0.0 0.0 2.0
s 66 47.0 33.3 12.1 0.0 7.6 0.0
a5 82 341 41.5 171 0.0 2.4 0.0
44 94 28.7 50.0 9.6 2.1 5.3 0.0
NES 36 16.7 50.0 16.7 5.6 1.1 0.0
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3,130 32.6 66.4 1.0
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1sstn 562 31.3 67.8 0.9
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